Base not included.
Shown for ref. only

. INTEGRA

ENCLOSURES

P/N: INS-SFP44-IMP 0

P4043 FACEPLATE KIT, STEEL
Installation Instructions:

The kit consists of the following components

Iltem A) Faceplate, Stl, 4x4x3 — QTY (1)
Item B) Support, Faceplate, — QTY (4) .
Iltem C) Screw, #8-18 x 3/8” PH, Phil, Thread Cutter — QTY (8) ®

Position the Faceplate supports (B) (x4) flush against the inside wall of the Base and secure with #8-18 X 3/8”
Pan Head Screws (C) (x4) into the hexagonal boss, as shown. Position the Faceplate panel (A) over the supports
and secure with #8-18 X 3/8” Pan Head Screws (C) (x4) into the supports (B). Torque to 8-10 in-Ibs., using Philips
head #2 screwdriver.

Integra Enclosures, Inc. 7750 Tyler Blvd / Mentor, OH 44060 / Voice 440-269-8155 / Fax 440-269-8166 /
www.integraenclosures.com (INS-SFP44-IMP_REV_A1)

Base not included.

ENCLOSURES/

P/N: INS-SFP44-IMP ®

P4043 FACEPLATE KIT, STEEL
Installation Instructions:

The kit consists of the following components

Iltem A) Faceplate, Stl, 4x4x3 — QTY (1)
Item B) Support, Faceplate, — QTY (4)
Item C) Screw, #8-18 x 3/8” PH, Phil, Thread Cutter — QTY (8) ®

Position the Faceplate supports (B) (x4) flush against the inside wall of the Base and secure with #8-18 X 3/8”
Pan Head Screws (C) (x4) into the hexagonal boss, as shown. Position the Faceplate panel (A) over the supports
and secure with #8-18 X 3/8” Pan Head Screws (C) (x4) into the supports (B). Torque to 8-10 in-Ibs., using Philips
head #2 screwdriver.

Integra Enclosures, Inc. 7750 Tyler Blvd / Mentor, OH 44060 / Voice 440-269-8155 / Fax 440-269-8166 /
www.integraenclosures.com (INS-SFP44-IMP_REV_A1)




